Series and parallel circuits 

1. Which would draw more current from a supply, two 100  resistors connected in series or two 100 resistors connected in parallel?

2. Why is the use of a multiple outlet adaptor connected to the mains potentially dangerous?

3. What is the resistance of each of the following circuits:


4. You are given four resistors, 20 k, 10 k, 5 k and 1 k. How would you connect two or more of them to make the following total resistances:

(a) 15 k
(b) 14 k
(c) 6.67 k
(d) 4.33 k

5. The circuit shown in the diagram contains a resistor and an LDR connected in parallel to a 6V supply of negligible internal resistance.

(a) calculate the current drawn from the supply when the resistance of the LDR is 250 k.

(b) what happens to the current drawn from the supply as the light falling on the LDR is made steadily brighter?

(c) what is the minimum current that can be drawn from the supply?
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